

- The definition of E_j yields

$$\begin{aligned}
 I &= \underbrace{E_{j-1} + P_{j-1} E_{j-2} + P_{j-2} E_{j-3} + \dots + P_1 E_0}_{(I - P_{j-1}) E_{j-2} + P_{j-1} E_{j-2}} = E_0 = I, \\
 &= \underbrace{E_{j-2}}_{= E_{j-3}}
 \end{aligned}$$

that means

$$(49) \quad I = E_{j-1} + \sum_{k=1}^{j-1} P_k E_{k-1}.$$

Therefore, for all $j = \overline{1, j}$, we have the identity

$$a(P_j u, u) \stackrel{(43)}{=} a(P_j u, E_{j-1} u) + \sum_{k=1}^{j-1} a(P_j u, P_k E_{k-1} u) \stackrel{(44)}{=}$$

that can be bounded by means of Lemma 3.22 as follows:

$$\begin{aligned}
 a(P_j u, u) &\stackrel{(43)}{\leq} a(P_j u, u)^{1/2} \cdot \left[\underbrace{1}_{\gamma_{j1}} \cdot a(P_j E_{j-1} u, E_{j-1} u)^{1/2} + \right. \\
 &\quad \left. + \omega \sum_{k=1}^{j-1} \gamma_{jk} a(P_k E_{k-1} u, E_{k-1} u)^{1/2} \right]
 \end{aligned}$$

$$\leq a(P_j u, u)^{1/2} \tilde{\omega} [\Gamma \underline{c}]_j,$$

with $\underline{c} = [c_k]_{k=\overline{1, j}}$, $c_k = a(P_k E_{k-1} u, E_{k-1} u)^{1/2}$,

and $\tilde{\omega} = \max\{1, \omega\}$. Hence, we have

$$\sum_{j=1}^j (50) \quad a(P_j u, u) \leq \tilde{\omega}^2 [\Gamma \underline{c}]_j^2$$

$$\underbrace{a\left(\sum_{j=1}^j P_j u, u\right)}_{P_A u} \leq \tilde{\omega}^2 \sum_{j=1}^j \dots$$